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Math 12 Honours: Section 5.1 Solving Exponential Functions

1. Solve for all values of “x”:
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2. Use Logarithms to solve for “x”:

a)4™ =10 . o (. G0 |” 6% =14

K _o=>4 =6“0$“°‘§’_\%q D | usl= \ogé sa-ﬁﬁ—— 0.23¢
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)9 =20 d)10** =21
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e) (22)3 =8000
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3. Rewrite each of the following in !oiarithm form:

a)e’ =y b) 2a’ :.Cg c) 2(3x)° =y
log ¥ -
| 5= ¢ M b o 7= lon
4. Evaluate each of the following without a calculator:
a)log, 125 b)log, 128 c)log, 2183
14 log & = Fly, 334 [F],
d)log,, 64 e)log, v/343 f)(log
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5. Simplify each of the following logarithms without using a calculator:

a)log, 24 +log, 9 b) Iog5 100 log, 4 c)log, 8+ log, 64
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d)log, 324 -log, 4

e)log,12+log, j+3|og4

log, 232 gy ), \:,}
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g)log, /45 —0.5log,5+1log,9 | h)log, 5'log, 4 -1 i) log,,, (x* +3x* +3x+1)
s i

2'1 = ‘0 - \o ‘{ 3
(033 = (03 = O 93 ‘/’3 = (oﬁ (a-d) = g
3 4 ~(‘,311'3" \\Ej: Z’ E ;P s\
Z=3x-3
3
6. Solve for all possible values of “x” : w. : 3 [92;} =27 /14_2,. =4 x -\;)l {j‘::*'b
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7. Suppose you have the equation

25X -3

=-1,isit p055|ble to have

QA

# and justify your answer:

Vo, 2 1o de powes ol noJJwy con ke regouve

msmm\Pa&WMm‘aﬂ.

8. Given the equation, m*=m’, h
O n=4
@D xy=l
Q@ 7(13-—0
® m=!

9.

. n

Find all values of “x

such that: 6 (GX )X =
-+
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OW many cases are theres ch that the eq atlon |s true?
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10. Solye for all possible values of “x”: 4x9* —21=25x3"

$x3 " 25x3"-21=0  (A-F(Uh+3)=0

2
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2 5 0
L(’A ~Q§A —Q.[:O q:\
b =3 :
11. Solve for “x”: 27 + 2% = 23 +2° 427
’.lou( x43 =
=2 + 2742

’3) 1(40) 28 =0 % %
2 ( 8 N 7=6=> (=4
” ‘(0*]‘6051 ('28)
2= lé
12. Suppose that P =2" and Q —3n . Which of the following is equal to 12™ for every pair of integers (m,n)?
g PQ P aper g P (P amo

13. Solve the equation for “y” in terms of “x”. Forﬁgfvalues of “x” is there no value of “y” that satisfies the
f
equation: (X + §) Y _x*=3

Qv - l:ﬁgq Resuigrtons:
:M ' AD>0 £ 2 50
N =\ la)—ﬁ. a¥ -\ ﬂ‘mm
—a Ben
1—a—tt))
2-2
14. Suppose that 60* =3 and 60° =5 . What is the value of 12 ?AMC12 |-a-\o ‘:'t

ash l—a-b o %) \ 2% \00“’
0 =ls=>60 - m eV
5o a \  22% lea ="y
145) b -3
(o= a5= (o7, 2—§5=%-—\4‘f \ WIE g

2

15. Suppose “a”, “b”, “c” and “d” are positive integers, then what is the smallest possible value of a+b+c+d ?

* b
4 4P 4 40 = g QA +2°=2
T 1
Rab=c=4 hare, 10 Yoo Ogquial
So
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16. Given the equations below, find all the ordered triples of real values (a,b,c) that satisfy the them:

c* =b*, 2°:2(4a), a+b+c=10
’).C " v
B 304b= 9 = 9-2a=b
c=%| o

@ )Qag @9-3‘1:\0 @ C = a+)

(Q—“i-‘)a= (?:;3& b=9-3(4) C\<Q("‘)+\
2 g )
e i’&\u
Qe +| = 31-S4a+ S’ b, -9_3(*% 1=
b -9. 9

903'-";60\4-85)':0 922
; —
(0 -‘*Xﬁm —20) =0
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